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m(m(z,y), z) = m(z,m(y, z)) (Vz,y,z € G)
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m(e,z) =z, m(z,e)=xz (VzreG)
3) G G x
G Y
m(z,y) =e, my,z)=e
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(G,m)
1.1. (G,m)
(1)G=Z;m(%y)=$+y- ( ( ) &+
2) G=Q\{0}, m(z,y)=ay. () (Q x) )
3) G = GL,(R), m(z,y) = zy



(1) Y y flx) =y
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f(x1) # f(x2)
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1.3 x x? f
(1) f:R—R
(2) f:Ryp— R
(3) f . R — RZO
(4) J iRy — Ry

A B Ax B A B

Ax B={(a,b);ac A, be B}

{0,1,2} x {a,b} = {(0,a),(0,b), (1,a),(1,b),(2,a),(2,b)}
{07 1} X {0’ 1} = {(07 0)7 (07 1)7 (L 0)7 (L 1)}

m(z,y) =xz+y+3
(Z,m)
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